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3 point problems (9éuata 3 uovadwv)

1. A mushroom grows every day. Mary takes a picture of the mushroom each day from Monday to
Friday. Which of these pictures was taken on Tuesday?

‘Eva pavitdpl peyolwvel kaBe pépa. H Mapia maipvel pla pwtoypadio tou pavitaplol kabe pépa
ano Asutépa £wg Napaokeun. Mola and autég Tig pwrtoypadieg mapbnke tnv Tpitn;

(A))“!::?!i (B))\m (C)m (D) jEE::: (E))m

2. Which piece completes the pattern?
Moo KoPUATL OAOKANPWVEL TO HOTIRO;

(A)G (B) G (@] Z (D)E (E)ﬂ

3. Takis shades all the squares in the grid where the result is 20.

Which shape does he get?

O Takng xpwpatilel OAa Ta TETpAYWVA 0TO MAEYUA OTtoU To amotéAsopa givar 20.
Mota popdn maipvey;

16+4119+1]|28—-38

2x10|16 -4 7x3




. . KANGOUROU MATHEMATICS COMPETITION 2020 - PART A
Thales Foundation LEVEL 3-4

4. Which of the following figures has the largest shaded part?
Molo oo Ta MAPAKATW OXN AT EXEL TO LEYAAUTEPO OKLOGEVO LEPOC;

(A)E (B)E (C)H (D)i (E)E

5. You can make different figures by using these pieces:

Which of the figure below can you make with these pieces?

Mmnopeite va ¢pTLagete SLOPOPETIKA OXNUATA XPNOLLOTOLWVTAG OLUTA TA KOUUATLAL
MoLo amnod Ta MoPAKATW UMOPEITE va GTLIAEETE UE AUTA TOL KOUUATLO,

A0
C%QA

(A) E (B)§ (€) g (D)C >: (E)zc %

6. Elli draws the big square with chalk on the pavement. She starts jumping from number 1. She jumps
from each number to the next number that is 3 points larger and continues in this way.

What is the largest number Elli can jump onto?

HEAAN oxedlalel To HeYAAO TETPAYWVO PE KLUWALQ 0TO TeEl0SPOLO0. ZeKLVA TINSWVTAG Ao TOV apLlOuo
1. Mnda amo kabe aplBuo6 otov emdpuevo aplBud mou eival 3 Hovadeg PeyaAUTEPOG Kot cuvexilel pe
QUTO TOV TPOTO. MoLoG elval 0 HeyaAUTEPOC ApLOUOG TTOU UMopEel va ¢taocel n EAAN;

1158|111
4 | 7110|114
24)|23|13|18
21(19|16|20

(A)11 (B)14 (C)18 (D)19 (E)24
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7. John glues these 6 stickers to the faces of a cube:
O Mavvng KOAAQ aUTA Ta 6 AUTOKOAANTA OTLG £6pEG EVOC KUPBOU:

il Tk

The pictures shows the cube in two positions. Which sticker is on the opposite face to the duck?
Ol ewkOveg deiyvouv Tov KUBo og SUo B€aelg. Mola AUTOKOAANTN ETIKETA BPIOKETAL OTNV ATEVAVTL £56pal
™G MamnLog;

) A (E)%

8. Casper has the following 7 pieces:
O Kaomep €xel Ta akoAouBa 7 KoppaTLa:

He covers this grid LI T T TTTITTTITTTTTT T Jwithout overlap. He uses as many
different pieces as possible.
KaAUTteL auto to rt)\évua| [T T T T T T ] wap'u; eTUKaAUPELC.

Xpnolporolel 600 To Suvatov eplocotepa SLAPOPETIKA KOUUATLAL.

How many pieces does Casper use?
Méoa koppadtia xpnotuornolei o Kaomep;

(A)3 (B)4 (5 (D)6 (E)7
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4 point problems(Séuata 4 povadwv)

9. Cindy colours each region on the plate either red, blue or yellow. She colours neighbouring regions
with different colours. She colours the outer ring of the plate red. How many regions are red?

H Zivtn xpwpotilel KAOe TepLOXN) OTO TLATO LLE KOKKLVO, | UITAE N KITPLVO XpwHa. XpWHATIIEL YELTOVIKEG
TEPLOXEC HE SLAPOPETIKA XPWHATO.XPWHATIEL TO €EWTEPLIKO SOXTUALSL TOU TILATOU PE KOKKLVO XPWHAL.
Mooeg MEPLOXEG ElVOIL KOKKLVEC;

10. Loes looks at the pyramid from above. What does Loes see?
O Aounc kottalel tnv mupauida anod navw. Tt BAEneL o Aolng;

(A) (B) (C) (D) (E)
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11. Dennis ties a dog 1 metre from a corner of a 7 metres by 5 meters corridor hut as shown in the
picture using an 11 metres long leash. Dennis places 5 bone treats at the places marked with the
letters. How many of the bone treats could the dog reach?

O NTtévig ouvbEel éva okUAO 1 PETPO Ao UL YWVLA OKETIAOTPOU O SLASPOUO 7 HETPWV €TL 5 HETPWY,
onw¢ dalivetal otnv lkova, xpnotlpomnolwvtag Aoupt prikoug 11 pétpwv. O Ntévig tomoBetel 5
KOKKOAQ ALYOUSLEG OTLG BECELG TTOU ONUELWVOVTAL e KOKKAA. Nooa KOKKaAa AyouSLEC pumopel va
¢dtdoel 0 OKUAOG;

TV,
M1 B2 (©3 @4 @©)S5

12. Lonneke builds a fence using 1 meter long poles. )
The picture shows a 4 meter long fence.

O NoUng KataoKeudletl hppaytn XPNOLUOTIOLWVTOS TTAooGAOUC pukoug 1 petpou. )
H ewkdva Seiyvel dpaytn UnKouc 4 PETpWV.
T I I

(- - (- Q- —

4 meter
How many poles does Lonneke need to build a 10 meter long fence?

Moéooug macodhoug xpetdaletat o Aoung yla va xtiostl évav Gpaktn pnkoug 10 pETpwy;
(A)22 (B)30 (C)33 (D)40 (E)42

13. Every time the kangaroo goes up 7 steps, the rabbit goes down 3 steps. On which step do they
meet?

KaBe dpopd mou to kaykoupo aveBaivel o€ 7 OKaALA, TO KOUVEAL KatePaivel 3 okaALd. Z€ TTOLO OKOAL
ouvavTLoUVTOL;

(A)53 (B)60 (C)63 (D)70 (E)73
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14. The sum of three numbers is 50. Karin subtracts a secret number from each of these three
numbers. She gets 24, 13 and 7 as the results. Which one of the following is one of the original three
numbers?

To aBpolopa tpLwv aplBuwy eivat 50. H Katepiva adatpel €vav puoTtiko aplBuo amnod kabe evav ano
auToUC TouC TPELG aplBpouc. Maipvel 24, 13 kot 7 w¢ amoteAéopata. Molo amo ta mMapoKATW lval
£VaLG amo Toug TPELG apXLkoUg aplBuoug;

(A)9 (B)11 (C)13 (D)17 (E)23

15. Amelie wants to build a crown using pentagon tokens as shown. When two tokens share a side,
the corresponding numbers match. Four tokens have already been placed. Which number goes in the
triangle marked with an X?

H ApaAia B€AsL va XTioEL évol OTEUUA XPNOLLOTIOLWVTAG HMAPKEG TIEVTAYWVO OTWC daivetal. Otav duo
UAPKEG €XOUV KOV TIAEUPQ, TOTE MPETEL OL avtiotolyol aplbuoi va givatl ot idlot.

‘Exouv 16n tomoBetnOel t€ooepelg papkeg. Molog aplBuog Ba mpémel va elval 6To Tplywvo mou
ONUELWVETOL UE €va X;

(A1 (B)2 (€3 (D)4 (E)5

16. Frank has two types of sticks: short ones, measuring 1 cm and long ones, measuring 3 cm.
O Owtng £€xeL V0 TUMOUC PABSWVY: ULKPA, ME UAKOG 1 cm Kol MEYAAQ, ME UAKOG 3 cm.

==

With which of the combinations below can he make a square, without breaking or overlapping the
sticks?

Me moLoV amo TOUG MAPAKATW CUVSUOOUOUC UITOPEL VO KAVEL VA TETPAYWVO, XWPLE VoL OTIACEL R val
erukaAu el Tic paBdoucg;

(A) 5shortand 2long (B) 3 shortand 3long (C) 6 short (D) 4 shortand 2 long (E) 6 long

(A) 5 pkpa kot 2 peydAa (B) 3 pkpd kat 3 peydda (C) 6 pikpd (D) 4 pikpd Kot 2 peydAa (E) 6 peydAa

7
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5 point problems (9éuata 5 povadwv)

17. A standard die has 7 as the sum of the dots on opposite faces. The die is put on the first square as
shown and then rolls towards the right. When the die gets to the last square, what is the total number
of dots on the three faces marked with the question marks?

‘Eva turikd Zapt €xel 7 wg To aBpolopa Twv KoUKKISwv oTig amévavtl €6peg. To {dpL tomoBeteital oto
TIPWTO TETPAYWVO OTIWE GALVETAL KaL OTN CUVEXELA KUAQ Ttpog ta 8e€Ld. Otav to {apl $pTAoEL oTo
teleutaio TETPAYWVO, TIOLOG £(vVaL 0 CUVOALKOC 0pLlBUOC TwV KOUKISWV OTLC TPELG £8pEC ToU
ONUELWVOVTAL LIE TO EPWTNHATIKA ?;

- 2
[ ] [ ?

; ?

1. 234,56,/

(A6 (B)7 (C)9 (D)11 (E)12

18. 6 people each order one scoop of ice cream. They order 3 scoops of vanilla, 2 scoops of chocolate
and 1 scoop of lemon. They top the ice creams with 3 cherries, 2 wafers and 1 chocolate chip. They
use one topping on each scoop, such that no two ice creams are alike. Which of the following
combinations is possible?

6 atopa mapdAyyeAay pa UraAa maywtol o kaBévag. Napayyethay 3 umaAeg Bavilia, 2 HmAaAeg
cokoAdta kot 1 prtdAa Aepovi. NpocBEtouv yapvitolpa oTo MaywTd Pe 3 Kepaola, 2 ykodpETeg kat 1
OOKOAATO TOUT. XpNOLUOTOLOUV HLa yapvitoUupa o KABe pumdla maywtol, £T0L WOTE VA NV UTIAPXOUV
600 maywtd ta idta. Molog armod Toug MOPAKATW cuVSUACHOUC ival TBavog;

ALkt D

(A) chocolate with a cherry

(B) vanilla with cherry

(C) lemon with a wafer

(D) chocolate with a wafer

(E) vanilla with a chocolate chip

(A) cokoAata pe kepdot

(B) BaviAia pe kepaot

(C) Agpovt pe ykodpeta

(D) cokoAdrta pe ykodpéta
(E) Bavilia pe cokoAdta toumn
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19. The Queen tries to find out the three names of Rumpelstiltskin's wife.
She asks her:

"Are you called Adele Lilly Cleo?"

"Are you called Adele Laura Cora?"

"Are you called Abbey Laura Cleo?"

Each time exactly one name and its position was right. What is the name of Rumpelstiltskin's wife?
(A) Abbey Lilly Cora

(B) Abbey Laura Cora

(C) Adele Laura Cleo

(D) Adele Lilly Cora

(E) Abbey Laura Cleo

H Baocihiooa mpoonaBei va Bpet ta tpla ovopata thg culuyou Tou MNamadomouAou.
Tn pwtast:

"Ovopaleote ASoUAa Aiva KAsww;"

"Ovopaleote ASoUAa Adoupa Kopa;"

"Ovopualeote Avtpn Adoupa KAslw;"

KaBe dopa akplBwg va dovopa Kat n B€cn Tou NTav cwotd.

Moto elvat To évopa tng culuyou tou MNamadomouAou;

(A) Avtpn Aiva Kopa

(B) Avtpn Adoupa Kopa
(C) AdoUAa Adoupa KAsLw
(D) AdoUAa Aiva KAsww

(E) Avtpn Adoupa KAsww

20. The numbers from 1 to 8 were written on the board. The teacher covered them with triangles,
squares and a circle. If you add the four numbers covered by triangles the sum is 10. If you add the
three numbers covered by squares the sum is 20. Which number is covered by the circle?

Ot aplBuot and 1o 1 £wg 1o 8 ypadtnkav otov nivaka. O &okalog Toug KAAUYE He Tplywva,
TETPAYWVA Kal €va KUKAO.

Eav npooBéoete Toug TECOEPLG OPLBOUC TToU KaAUTITOVTOL aTd Tpiywva, To oo eivat 10.

Av ipooB£oeTe TOUG TPELG aplBOUG TTOU KAAUTITOVTAL OO TETPAYwWVA To dBpolopa eivat 20.
Molog apLBog KOAUTTETAL Ao TOV KUKAO;

(A)3 (B4 (5 (D)6 (E)7
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21. Jane wants to colour the heads, wings and tails of parrots % with three different colours: red,
blue and green. She colours one parrot's head red, the wings green and the tail blue.

How many more parrots can she colour so that all the parrots are coloured differently?

H Mavva B€AeL va xpwpatiost ta kedalla, To TEPA KOL T OUPEG TWV TIATIAYAAWY UE TPl
SLapoPETIKA XpwHATO: KOKKLVO, UTTAE KOL TTPACLVO.

Xpwpatilel to kedpAAL evOg mamayalou Ue KOKKLVO, Ta GTEPA TTPACLVA KOL TNV OUPA UITAE.

Moooug akoun manayaAoug Umopel va xpwuatiosl wote 0Aot oL marmayalol va €xouv SladopeTikod
XPWHOTLOUO;

(A)1 (B)2 (4 (D)5 (E)9

22. Several teams came to the summer Kangaroo camp. Each team has 5 or 6 members. There are 43
people in total. How many teams are at this camp?

MoAAEC opadeg pBav otnv kKaAokalpvn kotacknvwaon Kaykoupod. Kabe opdada €xeL 5 1 6 HéAD.
Ymdpxouv cuvoAlkad 43 dtopa. Moceg opadeg Bplokovtal o€ AUTH TNV KOTAOKAVWON;

(A)o (B)8 (C)7 (D)6 (E)4

23. Which key would be impossible to cut into three different figures of five shaded squares?
Moto kAeldi Ba NTav aduvato va komel os Tpia SLPOPETIKA OYNLOTA TWV TTEVTE OKLOOUEVWY
TETPAYWVWY;

(A) I (B) (€ (D) (E)

24. Ann replaces letters in the calculation KAN — ROO + GA with numbers from 1 to 9 and then
calculates the result. The same letters are replaced by the same numbers and different letters by
different numbers. What is the largest possible result she could get?

H Avva avtikaBlotd ta ypappoata otov untoAoytopo KAN - ROO + GA pe aplBuoug anod 1 éwg 9 Kat otn
ouVEXeLa uTtohoyilel To amotéAeopa. Ta idla ypaupota avtikabiotavrol amd toug idltoug aptBuolg
KoL StadopeTikad ypappata pe Stadopetikolg aplduolg. MNMoto eival to peyalutepo Suvatod
anotéAeopa tou Ba prmopolos va MApEL;

(A)925  (B)933 (C)939 (D)942  (E)948

10



